GEOLOGICAL MAPS




Jual il

JalS 3 gaaa [a

mmal5@fayoum.edu.eg
01111852510a




0;';

a |

u
A
C
$0
v
o
€
B ‘.
..U
.0
ot
N
..U.
'3
Q
-
O




A ol gl Jail Al
Anghll 8 Ma ) oda olad) g sl D Jiiad -p dday A
Al ot g dagdal) A dladl) pe i Aald Gy Ma¥) 038 an i ¢ Ay Al e (2 Y e dlay) Jiiailg
(el pissa)
L) AY) £ il
: Al S gubal) dday A) )
CSan g A g¥) g Jomaal) (5 jlaa g Ciliaddiall g Culadl pal) Jia Adlidal) (i Y pdam allaae ana g JISE) guida oo il ALY (pa 53 (A
: Jha Gk Bany gl

G slil) A8y pha -

gl 43y jha -

A gl Jai) AT Jail A (e £ ol ) pansy g sl daghd -
: A ol gual) dday AL Y

g siual) ABde g ¢ A gl gl il oSl dah g ) giall @) g8 Wgale ygdiy 481 2 ks dday 3
Aoy et g Apeas) Ay A ) Iols) A ol gl Ay A s S5



105 03 Jiall (358 o




a Yoo play) e g bl

o







!e\'~~ &\&J\ulc\_\;\@sjh

o




1€ gl Y 5 LS JSi

o










NS o=
FalS i) e lia) 5 5L u, 4ndll llay ) sl







o

S YO Capaiia (38 L) U (San 0
) &Sl p Ee e e 8 Oa




oo &y Ja U Al e gl L

Q PP i UV ENL




£ 53 alS o guaia e Uial

eV smia G lial o) Sl )

o




IS J 0 S A0 Gamy ae Jglas







i e i | sasi L
Ualy Jaadl (s e
s 8 b aS)

4]l ya L il 5 3 gl



Ov S eldi)l pe et Jsd (e 0 S
.. yia




.e.g L4 L4 L 4
Wm\_\;\c\iﬂ;)im




. . ot J&‘
ngbeﬁuwmg_ﬁj]




D a0 e el gl e Ll el @ b))
Q.Llcyjcmaﬁh‘ 6€Y~~ uAdﬂ‘




IS4 1
:. ‘ 4 B




19 55 L oS pli ) e sl 6l




FalS U gioea (o 5San 4l ddais e ) ) o 3l J siia

» More than 350 meters,
less than 400 meters
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More than 100 meters,

less than 150 meters
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Elevation = 200- | (200-150) x (o_;sj

=200-(50 x 0.375)
= 200-18.75
=181.25 or181lm

1l in = 1,000 ft
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Rise = high contour- Low contour

Run = distance on map x Scale




Rise =200-150=50 m

Run =2.625 cm X 100,000
= 2625 M

o (200 m -150 mj
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Answers!

*1. No :The elevation must be under
1400 meters, but over 1300
meters.

2. about 400 meters




Answers!

*3. (A) 1s probably close to the 750
meter line, (B) is above 1300
meters. The difference between the
two would probably be 650 to 700
meters.




Answers!

°4. No: It must be more than 700
meters and less than 800 meters.

5. Down a valley: If the contour
lines point up the slope it’s a valley,
if they point down the slope it’s a
ridge.




Answers!

6. East: When contour lines are
close together that means there is a
steep slope, the further apart the
lines, the more gentile the slope
and therefore an easier walk! Go
east!






















